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NEW QUESTION 1
Which design element is a best practice when deploying an 802.11b wireless infrastructure?

A. disabling TPC so that access points can negotiate signal levels with their attached wireless devices.

B. setting the maximum data rate to 54 Mbps on the Cisco Wireless LAN Controller

C. allocating nonoverlapping channels to access points that are in close physical proximity to one another
D. configuring access points to provide clients with a maximum of 5 Mbps

Answer: C

NEW QUESTION 2
What are two southbound APIs? (Choose two )

A. OpenFlow
B. NETCONF
C. Thrift

D. CORBA
E. DSC

Answer: CD

NEW QUESTION 3

An email user has been lured into clicking a link in an email sent by their company's security organization. The webpage that opens reports that it was safe but the
link could have contained malicious code. Which type of security program is in place?

A. Physical access control

B. Saocial engineering attack

C. brute force attack

D. user awareness

Answer: B

NEW QUESTION 4

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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NEW QUESTION 5
Which type of address is the public IP address of a NAT device?

. outside global
. outsdwde local
. inside global

. insride local

. outside public
. inside public

mTmoOm >

Answer: C

NEW QUESTION 6
When OSPF learns multiple paths to a network, how does it select a route?

A. It multiple the active K value by 256 to calculate the route with the lowest metric.
B. For each existing interface, it adds the metric from the source router to the destination to calculate theroute with the lowest bandwidth.

C. It divides a reference bandwidth of 100 Mbps by the actual bandwidth of the existing interface to calculate the router with the lowest cost.
D. It count the number of hops between the source router and the destination to determine the router with the lowest metric

Answer: A

NEW QUESTION 7

Drag and drop the threat-mitigation techniques from the left onto the types of threat or attack they mitigate on the right.

check the answer below.

A. Mastered
B. Not Mastered

Answer: A
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Explanation:

NEW QUESTION 8
Refer to Exhibit.

SW2

vip domain clisco

vip mods TrANSpATENT

vtp password ciscotest
interface fastethernetd/1

switchport mode trunk

descriprtion connection o Swl

switchport trunk sncapsulation dotlg

How does SW2 interact with other switches in this VTP domain?

A. It processes VTP updates from any VTP clients on the network on its access ports.

B. It receives updates from all VTP servers and forwards all locally configured VLANSs out all trunk ports
C. It forwards only the VTP advertisements that it receives on its trunk ports.

D. It transmits and processes VTP updates from any VTP Clients on the network on its trunk ports

Answer: C

NEW QUESTION 9

Which two encoding methods are supported by REST APIs? (Choose two)

A. YAML
B. JSON
C. EBCDIC
D. SGML
E. XML

Answer: AE

NEW QUESTION 10
Refer to the exhibit.

ip Arp inspaction vian 5-10

interface fastethsrnest 0/1
switchport mods access
switchport access vian 5

What is the effect of this configuration?

A. All ARP packets are dropped by the switch

B. Egress traffic is passed only if the destination is a DHCP server.

C. All ingress and egress traffic is dropped because the interface is untrusted

D. The switch discard all ingress ARP traffic with invalid MAC-to-IP address bindings.

Answer: D

NEW QUESTION 10
Refer to the exhibit.
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[root@EcstTest =~]§ ip routs
default via 192.168.1.1%3 dev ethl proto static
192.168.1.0/26 dev ethl proto kernel scope link soc 192.168.1.200

[roct@HoastTest ~]§ ip addr show sthl
ethl: m=mtu 1300 gqdisc pfifo_fast glen 1000
liok/athar 00:0C:22:83:79:A3 brd ff:ff:FE - ff:FP-2F
inet 192.168.1.200/26 brd 152.168.1.255 scope global ethi
ineté fell: :20c:29ff . fefd: 7901 /E4 scope link
valid 1ft forever prafarred 1ft foraver

matric 1

Drag and drop the networking parameters from the left onto the correct values on the right. Check the answer below.

NIC MAL aodress

A. Mastered
B. Not Mastered

Answer: A

Explanation:

NIC MAL aodress

NEW QUESTION 12
Refer to Exhibit.
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—

SWi: SW2:

interface FastEthernet0/1 interface FastEthernet0/1
switchport trunk encapsulation dotlg
switchport trunk native vlan 999

switchport mode trunk

switchport trunk encapsulation dotlqg

switchport trunk native vlan 99
switchport mode trunk

Which action do the switches take on the trunk link?

A. The trunk does not form and the ports go into an err-disabled status.

B. The trunk forms but the mismatched native VLANs are merged into a single broadcast domain.
C. The trunk does not form, but VLAN 99 and VLAN 999 are allowed to traverse the link.

D. The trunk forms but VLAN 99 and VLAN 999 are in a shutdown state.

Answer: C

NEW QUESTION 15

Which command is used to specify the delay time in seconds for LLDP to initialize on any interface?
A. lldp timer

B. lldp holdtimt

C. lidp reinit

D. lldp tlv-select

Answer: D

NEW QUESTION 20
Refer to the exhibit.
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Designated Router (ID) 10.11.11.11, Interface address 10.10.10.1
Backup Designated router (D) 10.3.3.3, Interface address 10.10.10.3
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5
oob-resync timeout 40

Hello due in 00:00:08

Supports Link-local Signaling (LLS)

Cisco NSF helper support enabled

IETF NSF helper support enabled

Index 1/1/1, flood queue length O

Next 0x0(0)/0x0(0)/0x0(0)

Last flood scan length is 1, maximum is 6

Last flood scan time is 0 msec, maximum is 1 msec

Neighbor Count is 3, Adjacent neighbor countis 3

Adjacent with neighbor 10.1.1.4

Adjacent with neighbor 10.2.2.2

Adjacent with neighbor 10.3.3.3 (Backup Designated Router)
Suppress hello for 0 neighbor(s)

The show ip ospf interface command has been executed on R1 How is OSPF configured?

A. The interface is not participating in OSPF

B. A point-to-point network type is configured

C. The default Hello and Dead timers are in use
D. There are six OSPF neighbors on this interface

Answer: A

NEW QUESTION 23
Which statement identifies the functionality of virtual machines?

A. Virtualized servers run most efficiently when they are physically connected to a switch that is separate from the hypervisor
B. The hypervisor can virtualize physical components including CP

C. memory, and storage

D. Each hypervisor can support a single virtual machine and a single software switch

E. The hypervisor communicates on Layer 3 without the need for additional resources

Answer: D

NEW QUESTION 28

Which mode allows access points to be managed by Cisco Wireless LAN Controllers?
A. autonomous

B. lightweight

C. bridge

D. mobility express

Answer: B

NEW QUESTION 30
Refer to Exhibit.
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An engineer is configuring the NEW York router to reach the Lol interface of the Atlanta router using interface Se0/0/0 as the primary path. Which two commands
must be configured on the New York router so that it can reach the Lol interface of the Atlanta router via Washington when the link between New York and Atlanta
goes down? (Choose two)

A. ipv6 router 2000::1/128 2012::1
B. ipv6 router 2000::1/128 2012::11 5
C. ipv6 router 2000::1/128 2012::2
D. ipv6 router 2000::1/128 2023::2 5
E. ipv6 router 2000::1/128 2023::3 5

Answer: DE

NEW QUESTION 31
Which two outcomes are predictable behaviors for HSRP? (Choose two)

A. The two routers share a virtual IP address that is used as the default gateway for devices on the LAN.

B. The two routers negotiate one router as the active router and the other as the standby router

C. Each router has a different IP address both routers act as the default gateway on the LAN, and traffic is load balanced between them.D The two routers
synchronize configurations to provide consistent packet forwarding

D. The two routed share the same IP address, and default gateway traffic is load-balanced between them

Answer: AB

NEW QUESTION 33
Which 802.11 frame type is association response?

A. management
B. protected frame
C. control

D. action

Answer: B

NEW QUESTION 35

Which mode must be used to configure EtherChannel between two switches without using a negotiation protocol?
A.on

B. auto

C. active

D. desirable

Answer: D

NEW QUESTION 37

If a notice-level messaging is sent to a syslog server, which event has occurred?
A. A network device has restarted

B. An ARP inspection has failed
C. A routing instance has flapped

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\i/ Exam Recommend!! Get the Full 200-301 dumps in VCE and PDF From SurePassExam
Ll SurePass https://www.surepassexam.com/200-301-exam-dumps.html (103 New Questions)

D. A debug operation is running

Answer: A

NEW QUESTION 40
An engineer must configure a WLAN using the strongest encryption type for WPA2- PSK. Which cipher fulfills the configuration requirement?

A. WEP
B. RC4
C. AES
D. TKIP

Answer: D

NEW QUESTION 42
When configuring a WLAN with WPA2 PSK in the Cisco Wireless LAN Controller GUI, which two formats are available to select? (Choose two)

A. ASCII

B. base64

C. binary

D. decimal

E. hexadecimal

Answer: AE

NEW QUESTION 45
Drag and drop the functions from the left onto the correct network components on the right

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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NEW QUESTION 49
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